Mobile/whatsapp: 0086-13566577044 Email: helios@heliosoldier.com

HELIOS ELECTRONIC & MACHINERY CO., LTD.

OUR REF. OEM NO. IMAGINE DESCRIPTION FIT BM CARS
L Track Control Arm, BMW 5(E39)
HDBM-1001 |2 12183;;;:73()31 121 a —.Upper Front Axle Left BMW 5 Touring(E39)
with bearing and with joints BMW Z8 4.9
- ——r|
31121141718(31121 éﬁ\ > , Track Control Arm, BMW 5(E39)
HDBM-1002 092024) A —Upper Front Axle,Right BMW 5 Touring(E39)
with bearing and with joints BMW Z8 4.9
e e Mounting Kit,control lever BMW 5(E39)
HDBM-1003 31 1298822?3()31 121 5 = —Upper Front Axle,Left and |BMW 5 Touring(E39)
Right BMW Z8 4.9
HDBM-1004 31121092609(31121 ‘ Iilcpkpgroir-'nr?r:tAﬁi;Te; Left BMW S(E39)
092819) without bearing and with joint BMW 5 Touring(E39)
31121092610(31121 &  [Track Control Am, BMW 5(E39)
HDBM-1005 092820) jUpper Fropt AxIe,Rllqht‘ . BMW 5 Touring(E39)
without bearing and with joint
A = Track Control Arm
31121092609S(3112 - :‘ ’ BMW 5(E39)
HDBM-1006 10928198) D —TUDper Front Axle',Le'ft. BMW 5 Touring(E39)
with bearing and with joint
iy ‘@ Track Control Arm
i 31121092610S(3112 ~ . BMW 5(E39)
HDBM-1007 1092820S) ‘\ =Upper Front Axle.Right BMW 5 Touring(E39)
with bearing and with joint
Track Control Arm,
HDBM-1008 S 121;2;()31 121 \ e —Upper Front Axle,Left BMW 7(E38)

without bearing and with joint




Track Control Arm,

HDBM-1009 311211:1;3‘21()31121 —Upper Front Axle,Right BMW 7(E38)
without bearing and with joint
Mounting Kit,control lever
%;1%23;‘;(13715;22(3(1;;: —Upper Front Axle.Leftand [BMW 5(E39)
HDBM-1010 29)(31120006482)(3 Right BMW 5 Touring(E39)
1129068734) Rubber/Metal BMW 7 (E38)
Use for D3-008 & D3-009
BMW 3(E46)
S ® BMW 3 Compact(E46)
Ao 2 Track Control Arm, BMW 3
HDBM-1011 311267585208 —Lower Front Axle,Right Convertible(E46)
& wishbone,with holder BMW 3 Coupe(E46)
= BMW 3 Touring(E46)
BMW Z4(E85)
BMW 3(E46)
® ( BMW 3 Compact(E46)
' Track Control Arm, BMW 3
HDBM-1012 311267585198 ° —Lower Front Axle,Left Convertible(E46)
wishbone,with holder BMW 3 Coupe(E46)
Vg BMW 3 Touring(E46)
o BMW Z4(E85)
BMW 3(E46)
31126758520(31121
094466)(311267513 tk @ BMW'3 Compact(E46)
18)(31126752718)(3 _ 22 Track Control Arm, . BMW 3.
HDBM-1013 1126777852)(31126 / 10/" —Lower Front Axle,Right Convertible(E46)
770248)(311267748 1,{/ with bearing and with joints BMW 3 Coupe(E46)
20)(31122343352) | BMW 3 Touring(E46)
BMW Z4(E85)
31126758519(31121 Smw g((E)gfr;)pact(E%)
094465)(311267513 = -
17)(31126752717)(3 L\ 7‘{ Track Control Arm, BMW 3
HDBM-1014 1126777851)(31126 \\‘ | —Lower Front Axle,Left Convertible(E46)
770247)(311267748 | with bearing and with joints Smw g_(l?oupe(l(iéfe)s)
| | ouring
19)(31122343353) % BMW Z4(E85)
P BMW 3(E46)
31126757623(31124 Lok BMW 3 Compact(E46)
004359)(311267560 Q( ) Mounting Kit,control lever BMW 3
HDBM-1015 | 63)31126757624(31 \ = /‘;F’ B —Lower Front Axle,Left&Right|Convertible(E46)
124004360)(311267 & f\" with holder BMW 3 Coupe(E46)
56064) o 4 BMW 3 Touring(E46)
BMW Z4(E85)
BMW 3(E46)
pr— . . BMW 3
31122229623(31121 (Q Holder,wishbone mounting |50 o iy 1o (E46)
HDBM-1016 4 —Front Axle,Left
139791) At with rubber mounting BMW 3 Coupe(E46)
N BMW 3 Touring(E46)
BMW 5 (E34)
BMW 3(E36)
31126758513(31121 Track Control Arm Smw g Compac(Ese)
HDBM-1017 | 136529)(311211409 ’ .
57)(31121140399) = —Lower Front Axle,Left Convertible(E36)

BMW 3 Coupe(E36)
BMW 3 Touring(E36)




BMW 3(E36)
BMW 3 Compact(E36)

31126758514(31121
HDBM-1018 | 136530)(311211409 . Track Control Arm, BMW 3
58)(31121140400) —Lower Front Axle,Right Convertible(E36)
BMW 3 Coupe(E36)
BMW 3 Touring(E36)
BMW 3(E36)
31126758510(31121 Smw g Compact(E36)
i 096685)(311211403 Support-/Steering Link .
HDBM-1019 1 98)(31121140957)(3 Lower Front Axle Outer | onvertible(E36)
1121140958) BMW 3 Coupe(E36)
BMW Z3
BMW Z3 Coupe
BMW 3(E36)
Mounting Kit,control lever BMW 3 Compact(E36)
—Lower Front Axle,Left and |BMW 3
HDBM-1020 31129059288 Right Convertible(E36)
Rubber/Metal BMW 3 Coupe(E36)
Use for D3-174 & D3-175 BMW 3 Touring(E46)
BMW Z3
Track Control Arm, gmxvv g(ESO)
HDBM-1021 31121127725 —Lower Front Axle,Left .
5 without bearing and with joints Convertible(E30)
9 J BMW 3 Touring(E30)
Track Control Arm, Smw g(ESO)
HDBM-1022 31121127726 —Lower Front Axle,Right )
without bearing and with joints Convertible(E30)
9 J BMW 3 Touring(E30)
- BMW 3(E36)
31126758510(31121 ! gmxvv g Compact(E36)
) 096685)(311211403 Support-/Steering Link )
HDBM-1023 | 58)(31121140957)(3 _Lower Front Axle Outer | Onvertible(E36)
1121140958) g BMW 3 Coupe(E36)
BMW Z3
BMW Z3 Coupe
BMW 3(E36)
Mounting Kit,control lever BMW'3 Compact(E36)
—Lower Front Axle,Left and BMW 3
HDBM-1024 31129059289 '~ Right : Convertible(E36)
| ‘ Efl;er/Metal BMW 3 Coupe(E36)
BMW 3 Touring(E46)
BMW Z3
Support-/Steering Link gmw g(E3O)
HDBM-1025 31121126253 —Lower Front Axle,inner .
for control arm Convertible(E30)
BMW 3 Touring(E30)
&
F 4 BMW 3(E30)
_ Support-/Steering Link BMW 3
HDBM-1026 31121126254 —Lower Front Axle,outer Convertible(E30)

BMW 3 Touring(E30)




31121093449(31121

%

Track Control Arm,

BMW 5 Touring(E39)

HDBM-1027 | 094233)(311290695 é y P —Lower Front Axle,Left gmxvv g(EgL?Zin (E39)
68)(31122341219) Q with rubber mounting 9
31121093450(31121 e Track Control Arm,
HDBM-1028 | 094234)(311223412 1 @) —Lower Front Axle,Right gm g(‘IE'gL?r)in (E39)
96) - with rubber mounting g
31121133237(31121 k Track Control Arm, BMW 5(E34)
HDBM-1029 | 139987)(322111399 § ' —Lower Front Axle,Left BMW 5 Touring(E34)
87) \‘ with bearing and joint BMW 7(E32)
31121133238(31121 /Aa Track Control Arm, BMW 5(E34)
HDBM-1030 | 139988)(322111399 - —Lower Front Axle,Right BMW 5 Touring(E34)
88) i;/,/ with bearing and joint BMW 7(E32)
gt. 2 Track Control Arm,
HDBM-1031 31121138477 —Lower Front Axle,Left BMW 8(E31)
with bearing and joint
- :ao Track Control Arm,
HDBM-1032 31121138478 g >~ —Lower Front Axle,Right BMW 8(E31)
< with bearing and joint
31121139991(31121 Track Control Arm, gmxvv g('?c?jgin (E34)
HDBM-1033 | 124401)(311211315 —Lower Front Axle,Left 9
87) with bearing and joint BMW 6(E24)
9 andJ BMW 7(E32)
31121139992(31121 Track Control Arm, gmw g('ii?r)in (E34)
HDBM-1034 | 124402)(311211315 —Lower Front Axle,Right 9
82)(31121131588) with bearing and joint BMW 6(E24)
g andJ BMW 7(E32)
Track Control Arm,
HDBM-1035 31121141961 L —Lower Front Axle,Left BMW S(E39)

With bearing and joint




Track Control Arm,

HDBM-1036 31121141962 7 4 —Lower Front Axle,Right gmxvv g('ll%gjgin (E39)
O;—’““’/ with bearing and joint 9
- /‘ Track Control Arm,
HDBM-1037 31121142087 7 —Lower Front Axle,Left BMW 7(E38)
Z with bearing and joint
=~ 'O Track Control Arm,
HDBM-1038 31121142088 - —Lower Front Axle,Right BMW 7(E38)
7 with bearing and joint
BMW 5(E28)
BMW 5(E34)
Mounting,wishbone BMW 5 Touring(E34)
HDBM-1039 31121124622 —Lower Front Axle BMW 6(E24)
for steel suspension arms BMW 7(E32)
BMW X5(E83)
BMW X5(E53)
31121130089(31121 ) Track Control Arm,
HDBM-1040 | 130597)(311211399 —Upper Front Axle,Left gmxvv ggggf;
99) without bearing and with joint
31121130090(31121 Track Control Arm,
HDBM-1041 | 130598)(311211400 —Upper Front Axle,Right gmw ;Eggf;
00) without bearing and with joint
31121132159(31121 Track Control Arm,
HDBM-1042 | 133711)(311211410 —Upper Front Axle,Left gmw g('IE'c?jr)in (E34)
97)(31122226581) without bearing and with joint 9
31121132160(31121 Track Control Arm,
HDBM-1043 | 133712)(311211410 V‘ _,Upper Front Axle.Right Em g(Ejjr)in E34)
98)(31122226582) without bearing and with joint g
31121136607(31121 Mounting,wishbone BMW 5(E34)
HDBM-1044 | 136606)(311211366 —Upper Front Axle BMW 5 Touring(E34)
05)(31121139456) Rubber/Metal BMW 7(E32)




31121132353(31121

125549)(311211255 Track Control Arm
51)(31121127141)(3 . ’ BMW 5(E28)
HDBM-1045 | 1191129245)(31121 \;tl:lgﬁfrb:;?;t A;‘:Z'ﬂth ot |BMW 6(E24)
132345)(311211249 9 J
54)
31121132354(31121
125550)(311211255
Track Control Arm
i 52)(31121127142)(3 . BMW 5(E28)
HDBM-1046 | 1151129246)(31121 V;;’\gﬁf;z;‘:: Aaxrlilj\:i?:t'oint BMW 6(E24)
132346)(311211249 ¢ J
55)
Mounting Kit,control lever,
HDBM-1047 é”g?gggjgg) —Upper Front Axle.Leftand [BMW 5 (E28)
Right Rubber/Metal
Support,wishbone arm,
31121096169(31126 —Upper Front Axle,Left
HDBM-1048 769717) With hydro bearing and BMW X5 (E53)
without joint
Support,wishbone arm,
_ 31121096170(31126 —Upper Front Axle,Right
HDBM-1049 769718) With hydro bearing and BMW X5 (ES3)
without joint
o | g [P 5 E)
HDBM-1050 |(33321097264)(3332 i Right * with BMW 5 Touring (E39)
6768791) = Hight - BMW 7 (E38)
bearing and joint
(333231302;‘?;105)1(2332 Track Control Arm, BMW 5 (E39)
HDBM-1051 —Rear Front Axle.Right BMW 5 Touring (E39)
6770776)(33326774 Wishbone BMW 7 (E38)
793)(33322347994)
(33:;3231302;2;8:)1(35332 Track Control Arm, BMW 5 (E39)
HDBM-1052 —Rear Front Axle,Left BMW 5 Touring (E39)
6770775)(33326774 Wishbone BMW 7 (E38)
794)(33322347993)
Track Control Arm,
g —Rear Axle,Upper.Left and
33326768269(33321 — Right
HDBM-1053 095414) Wishbone,Replace in pairs BMW X5 (ES3)

only,with rubber
mounting,without accessories




Track Control Arm,

33321090905(33326 l / —Rear Front Axle,Left
HDBM-1054 770059) With bearing and joint(rear- BMW 7 (E38)
axle strut)
Track Control Arm,
33321090906(33326 —Rear Front Axle,Right
HDBM-1055 770060) With bearing and joint(rear- BMW 7 (E38)
axle strut)
BMW 5 (E39)
33321090504 Bearing,wheel bearing BMW 5 (E60)
) housing, BMW 5 Touring (E61)
HDBM-1056 (3332(;32?32;;(3332 —Rear Axle Lower,Outer  |BMW 6 (E63)
Rubber / Metal BMW 7 (E38)
BMW X5 (E53)
BMW 5 (E39)
33321090504S Bearing,wheel bearing BMW 5 (E60)
HDBM-1057 |(33321095631S)(333 housing, BMW'5 Touring (E61)
267677483) N —Rear Axle Lower,Outer BMW 6 (E63)
( ) Rubber / Metal BMW 7 (E38)
- BMW X5 (E53)
Track Control Arm,
HDBM-1058 (21 1;1 18?332) \ —Lower Front Axle Left SWV : gi;
With right-hand thread
Track Control Arm,
rosurose | 31121106385 ~Louer Front Auegign: |1 & €12
With right-hand thread
Track Control Arm,
HDBM-1060 31121114700 —Lower Front Axle,Left BMW 3 (E21)
With rubber mounting
Track Control Arm,
HDBM-1061 31121114701 —Lower Front Axle,Right BMW 3 (E21)
With rubber mounting
Track Control Arm,
HDBM-1062 31121118355 —Lower Front Axle,Left BMW 7 (E23)

With rubber mounting




Track Control Arm,

HDBM-1063 31121118356 ‘\é —Lower Front Axle,Right BMW 7 (E23)
With rubber mounting
1 Track Control Arm,
HDBM-1064 31121123025 —Lower Front Axle,Left BMW 3 (E21)
With bearing and joint
] Track Control Arm,
HDBM-1065 31121123026 —Lower Front Axle,Right BMW 3 (E21)
With bearing and joint
31121129362 Track Control Arm,
HDBM-1066 (31121127385) —Lower Front Axle,Left BMW 7 (E23)
(31121129363) With rubber mounting
Mounting,link,
HDBM-1067 31121117025 —Front Axle,Left and BMW 7 (E23)
Right,Outer
For idler arm
Tie Rod,steering, ALPI B11 (E32)
HDBM-1068 é;g”gggg;) —Front Axle,Centre ALPI B12 (E32)
For right-hand drive vehicles [BMW 7 (E32)
32211138854 Tie Rod,steering
i (32211130661) ’ ’ BMW 5 (E34)
HDBM-1069 (32211133615) ;Fi:;’(’;tt ;Xr'licf;;;e BMW 5 Touring (E34)
(32211136685) 9 9
BMW 5 (E28)
BMW 5 (E34)
HDBM-1070 32211135666(32211 Tie Rod,steering, BMW 5 Touring (E34)
124231) —Front Axle,Centre BMW 6 (E24)
BMW 7 (E32)
BMW 8 (E31)
(ggg Hgggg;) Tie Rod,steering,
HDBM-1071 —Front Axle,Centre BMW 7 (E32)
(32211133525) ( Rigid(steering rod)
(32211138850) 9 9




K2 BMW 5 (E28)
32211135819 Tie-rod End, gmw g(rii‘:.)n (E24)
HDBM-1072 (32211130001) —Front Axle,Outer BMW 6 (E24) 9
(32211127918) With left-hand thread BMW 7 (E32)
BMW 8 (E31)
2 BMW 5 (E28)
;‘
32211135820 Tie-rod End, gmw 55, Srii“rl)n (E24)
HDBM-1073 (32211130004) —Front Axle,Inner BMW 6 (E24) 9
(32211127917) With right-hand thread BMW 7 (E32)
BMW 8 (E31)
32211091913
(32111093433) Tie Rod,steering,
HDBM-1074 (32211096057) —Front Axle,Centre BMW 7 (E38)
(32211093435) Drag link
(32211091917)
Tie-rod End,
HDBM-1075 32211141345 —Front Axle Left BMW 7 (E38)
With right-hand thread
Tie-rod End,
HDBM-1076 32211141346 —Front Axle Right BMW 7 (E38)
With right-hand thread
i BMW 02 (E10)
32211103077(32211 Tie-rod End, BMW 1500-2000
HDBM-1077 107076) —Front Axle,Centre BMW 1600 GT Coupe
(32211145106) For left-hand drive vehicles BMW 2000-3.2 Coupe
(E9)
32211108081 Tie Rod, steering,
HDBM-1078 (32211115545) /J —Front Axle,Centre gmw g EE;?‘;
(32211118838) Both Sides
32111091767(32111 Tie rod,steering,
HDBM-1079 | 094673)(321110937 —Front Axle Left gmxvv g('ll%jl?r)in (E39)
69)(32211094673) adjustable 9
32111091768(32111 Tie rod,steering,
HDBM-1080 | 094674)(321110937 —Front Axle Right gmxvv g(EgL?r)in (E39)
70)(32211094674) adjustable 9




32111091769(32111

Axial Joint,tie rod,
—Front Axle Left and Right

HDBM-1081 094677)(322110937 / For vehicles without power BMW 5(E39).
. ) . BMW 5 Touring(E39)
71) steering,for vehicles with
steering
Tie-rod End,
—Front Axle Left
HDBM-1082 32111093771 w For vehicles without power BMW 5(E39).
. . . BMW 5 Touring(E39)
steering,for vehicles with
steering
Tie-rod End,
32111093772(32211 —Front Axle Right BMW 5(E39)
HDBM-1083 093772) V For vghlcles wnthout power BMW 5 Touring(E39)
steering,for vehicles with
steering
e Tie rod,steering,
HDBM-1084 32111115229 - —Front Axle Left BMW 3 (E21)
With right-hand thread
Tie rod,steering,
HDBM-1085 (251 H“?S;;) V —Front Axle Ritht BMW 3 (E21)
With right-hand thread
BMW 3 (E36)
BMW 3 Compact (E36)
32111136133(32111 Axial Jointtie rod, BMW 3
HDBM-1086 | 139315)(321111393 Hﬁ —Front Axle,Left and Convertible(E36)
17) Ritht,inner BMW 3 Coupe(E36)
BMW 3 Touring(E36)
BMW Z3
BMW 3 (E36)
BMW 3 Compact (E36)
A Tie-rod End, BMW 3
HDBM-1087 32111139313 —Front Axle Left Convertible(E36)
With right-hand thread BMW 3 Coupe(E36)
BMW 3 Touring(E36)
BMW Z3
BMW 3 (E36)
BMW 3 Compact (E36)
[ Tie-rod End, BMW 3
HDBM-1088 32111139314 —Front Axle Right Convertible(E36)
With right-hand thread BMW 3 Coupe(E36)
BMW 3 Touring(E36)
BMW Z3
Rob/Strut,stabiliser,
31351091496(31351 —Front Axle Left,Front Axle
HDBM-1089 095695) Right for BMW 7(E38)

stabilizer




Rob/Strut,stabiliser,

BMW 3(E46)
BMW 3 Compact(E46)
BMW 3

HDBM-1090 313513222%()31356 _ ;Frr]ct)nt Axle Left,Fro?;rAxIe Convertible(E46)
—q_stabilizer BMW 3 Coupe(E46)
BMW 3 Touring(E46)
BMW Z4(E85)
BMW 3(E30)
BMW 3(E36)
31351091764(31351 \. y Rob/Strut,stabiliser, BMW 3 Compact(E36)
HDBM-1091 127689)(313511287 S 2 —Front Axle BMW 3
37) for stabilizer Convertible(E30)
\ BMW 3
Convertible(E36)
HDBM10g2 | 31351091856(31351 E°Fl’rf;[‘ﬁjteagi"sﬁr’ BMW 5(E39)
095662) —rTont Axie Right BMW 5 Touring(E39)
for stabilizer
LDBM10es | 31351091855(31351 i°£’f:[‘j:jffi‘;er’ BMW 5(E39)
095661) PR . U BMW 5 Touring(E39)
for stabilizer
HDBM-1094 31351095664(31351 (/ iﬁfg{ﬂf}:ﬁag;'sﬁr’ BMW 5(E39)
092304) —rlont Axie hight BMW 5 Touring(E39)
for stabilizer
BMW 3(E36)
BMW 3
31351134582(31351 Rob/Strut,stabiliser, Convertible(E30)
HDBM-1095 | 130075)(313511280 —Front Axle Left and Right BMW 5(E28)
50)(31351124380) 2 with nuts BMW 5(E34)
BMW 5 Touring(E34)
BMW 6(E24)
Rob/Strut,stabiliser, BMW 3(E30)
HDBM-1096 3135170986Q / ,Front Axle Left BMW 3 Touring(E30)
Rob/Strut,stabiliser,
HDBM-1097 31356750703 —Front Axle Left BMW X5(E53)
2 for stabilizer
Rob/Strut,stabiliser,
HDBM-1098 31356750704 o —Front Axle Right BMW X5(E53)

for stabilizer




. . BMW 3(E30)
. Tie rod,steering, BMW 3
HDBM-1099 32111125186 f —Front Axle .
adiustable Convertible(E30)
! BMW 3 Touring(E30)
R BMW 3(E30)
Axial Joint,tie rod
32111126620(32111 ’ ’ . BMW 3
HDBM-1100 130449) / a_;.FJgtnatbﬁXIG s
) BMW 3 Touring(E30)
- BMW 3(E30)
. BMW 3
HDBM-1101 32111126757 w lirrc?:tEAT((lt Left and Right | Convertible(E30)
g BMW 3 Touring(E30)
BMW Z1
BMW 3 (E36)
~ S Tie Rod,steering, BMW 3 Compact (E36)
HDBM-1102 ég} H ggg’l?) /’3’ —Front Axle Left BMW 3 Convertible
adjustable (E36) BMW 3
Coupe (E36)
BMW 3 (E36)
Tie Rod,steering, BMW 3 Compact (E36)
HDBM-1103 32111139316 —Front Axle Right BMW 3 Convertible
adjustable (E36) BMW 3
Coupe (E36)
; Tie-rod End,
HDBM-1104 32211091723 —Front Axle Left gmw g%i?l)n (E39)
With right-hand thread g
Tie-rod End,
HDBM-1105 32211091724 V _Front Axle Right gmw g Sriigr?n (E39)
With right-hand thread g
32211096897(32111 gmw g (CE;? act (E46)
HDBM-1106 | 096897)(322110959 Tie Rod,steering, BMW 3 Conv‘; ible
55)(32106774222)(3 —Front Axle Left
2106777503) (E46) BMW
3 Coupe (E46)
BMW 3 (E46)
Tie-rod End, BMW 3 Compact (E46)
HDBM-1107 3221 1332223()32106 —Front Axle Left BMW 3 Convertible

With right-hand thread

(E46)
BMW 3 Coupe (E46)




BMW 3 (E46)

32211096898(32111
HDBM.1108 | 096898)(322110959 Tie Rod,steering, gm’ g ggnmviar:;:)f:46)
56)(32106774223)(3 —Front Axle Right
2106777504) (E46)
BMW 3 Coupe (E46)
BMW 3 (E46)
> Tie-rod End, BMW 3 Compact (E46)
HDBM-1109 3221 1(7)3‘5122?()32106 —Front Axle Right BMW 3 Convertible
With right-hand thread (E46)
BMW 3 Coupe (E46)
Tie-rod End,
HDBM-1110 | 322 13?23%2532106 o —Front Axle Left and Right |BMW X5 (E53)
Use for D3-126
32211103076(32212 2 Tie Rod,steering, gmxvv 82 (C[‘E(:n(z/)ertible
HDBM-1111 775000)(322127750 —Front Axle
02) Both Sides (E10) BMW 02
Touring (E6)
Tie Rod,steering,
HDBM-1112 32211117212 —Front Axle BMW 7 (E23)
Both Sides
Tie-rod End,
HDBM-1113 32211118619 S =Front Axe Left and |BMW 7 (E23)
Right,inner With
left-hand thread
HDBMA114 32211124475 liiz‘tji;‘f:””g’ BMW 5 (E12)
(32211108080) Both Sides BMW 6 (E24)
g~
) Support-/ Steering Link, BMW 3 (E30)
HDBM-1115 31121701077 ‘ —Front Axle,Lower,Outer BMW 3 Touring (E30)
Support-/ Steering Link, BMW 02 (E10)
HDBM-1116 31131103834(31131 —Front Axle Left and BMW 02 Convertible
108439) Right,Lower With [(E10)

fastening material

BMW 02 Touring (E6)




Mounting,Stabilizer,

HDBM-1117 31351135805 —Front Axle,inner BMW'S (E34.)
BMW 5 Touring (E34)
Rubber
Rod/Strut,Stabilizer,
HDBM-1118 31356753767 —Front Axle Left BMW 7 (E65.E66)
For stabilizer
Rod/Strut,Stabilizer,
HDBM-1119 31356753768 —Front Axle Right BMW 7 (E65.E66)
For stabilizer
32211128365 Centre Rod,
HDBM-1120 (32211117211) —Front Axle BMW 7 (E23)
(32211118883) For left-hand drive vehicles
32211129014 :
(32211124232) ~ Tie Rod,steering,
HDBM-1121 (32211124906) —Front Axle,Centre gmxvv g EE;Z;
(32211127136) Rigid(Steering rod)
(32211127272)
BMW 5 (E28)
w BMW 5 (E34)
) Steering Lever, BMW 5 Touring (E34)
HDBM-1122 32211136450 With bearing BMW 6 (E24)
BMW 7 (E32)
BMW 8 (E31)
BMW 5 (E28)
BMW 5 (E34)
32211136452 . K
HDBM-1123 (32211129807) Bushlng,Qrop arm shaft, BMW 5 Touring (E34)
(32211133698) For steering arm BMW 6 (E24)
BMW 7 (E32)
BMW 8 (E31)
) Tie Rod,steering, BMW 3 (E30)
HDBM-1124 32211701039 w —Front Axle,Left BMW 3 Touring (E30)
HDBM-1125 32211701040 w Tie Rod,steering, BMW:3 (E30)

—Front Axle,Right

BMW 3 Touring (E30)




Tie Rod,steering,

HDBM-1126 32216751277 —Front Axle left and BMW X5 (E53)
right
Rod/Strut,stabiliser
33321126476 ’ ’
(33321123463) PP 9
arm
BMW 3 (E36)
BMW 3 (E46)
33321138722(33321 Mounting,link, BMW 3 Compact (E46)
HDBM-1128 | 140345)(333267755 —Rear Axle Upper,Quter BMW 3 Convertible
51) For wheel bearing housing (E36)
BMW 3 Coupe (E36)
BMW 3 Coupe(E46)
Rod/Strut,stabiliser,
HDBM-1129 33551091497(33551 —Rear Axle Right BMW 7 (E38)
095696) -
For stabilizer
: Rod/Strut,stabili
HDBM-1130 33551092292 A —»oRearrL,iA;(TeaRligliTr’ BMW'S (E39)
- an .
(33551095532) & % For stabilizer BMW 5 Touring (E39)
LDBM11a] |33551126932(33551 i°§$tr“/‘:)’j;alg'i"i?“ BMW 3 (E30)
- —Rear Axle Rignht
124375) - BMW 3 (E46)
For stabilizer
Rod/Strut,stabiliser,
33551135307 ’ .
- —hkear Axle Right
HDBM-1132 (33551131131) —Rear A?(Ie Right BMW7
For stabilizer
. BMW 5 (E34)
— BMW 7(E32)
BMW 3 (E36)
BMW 3 (E46)
Repair Kit,suspension strut, |BMW 3 Compact (E46)
33521092362 ’
HDBM-1134 (33521137972) —Front Axle BMW 3 Convertible

With gasket

(E36)
BMW 3 Coupe (E36)
BMW 3 Coupe(E46)




With right-hand thread

HDBM-1135 31331090611 Strut mount BMW 7 (E38)
BMW 1 (E81,E87)
BMW 3
26111209168(26111 . (E30,E36,E46,E90)
227420)(261175114 Joint,propeller shaft,
HDBM-1136 BMW 5 (E12,E28,E34)
54)(26111229080)(1 For propeller shaft
220843) BMW 6 (E24)
BMW 7 (E23,E32)
BMW X5 (E53)
HDBM-1137 33521132088 GUTDE SUPPORT BMW 7 (E32)
HDBM-1138 33521132270 GUTDE SUPPORT BMW 3 (E30)
33311129760(33311
HDBM-1139 | 128670)(333111287 RUBBER MOUNT BMW 5 (E34)
02)
Suspension Strut Support
Bearing,

“Foninie
Reinforced strut mount with g
guaranteed longer lifetime

. BMW 3 (E36)
31331139436(31331 :::‘r’iﬁns'o” Strut Support 15\ 3 Coupe (E36)
HDBM-1141 | 135577)(003431330 —>Fron§t’ ;Axle BMW 5 (E34)
09) With ball bearin BMW 5 Touring (E34)
9 BMW 8 (E31)
Suspension Strut Support
) Bearing, BMW 5 (E39)

HDBM-1142 31331091709 —Front Axle BMW 5 Touring (E39)
With ball bearing
Tie Rod,steering,

HDBM-1143 32103212233()32303 / —Front Axle Left & Right BMW X3 (E83)




Track Control Arm,

33321095411(33326 . _,Rear Axle Left
HDBM-1144 | 770747)(333267682 With bearing anc bearing and joint(rear- BMW X5 (E53)
73)(33326770859) axle strut)
; Track Control A
33321095412(33326 ;""R‘;ar Z:‘dei r:t"
—Rear Axle Rignt
HDBM-1145 | 770748)(333267682 - - - BMW X5 (E53)
74)(33326770860) With bearing and joint(rear-
axle strut)
Centre Rod,steering,
HDBM-1146 ::’?3%161312:)3(%628261(;312:?;(; —Front Axle,For right-hand BMW 5 (E34)
18)(32211138855) drive vehicles BMW 5 Touring (E34)
Rigid(steering rod)
) 31126758533(31121 Track Control Afm; BMW 3 (E46)
HDBM-1147 096221) —Front Axle,Left BMW 3 Touring (E46)
Wishbone,Steel g
Track Control Arm,
HDBM-1148 31126758534(31121 —Eront Axle Right BMW 3 (E46)
096222) W—I_g_ishbone,SteeI BMW 3 Touring (E46)
) Support,Steering Link,
—Upper Front Axle,Left &
HDBM-1149 31 126332:215()31 121 Right BMW X5 (E53)
With mounting set,
use for D3-048 &D3-049
MINI MINI Cabriolet
Cooper
M Tie Rod steerin MINI MINI Cabriolet
HDBM-1150 32116754563 —Front ’Axle 9 Cooper S
—_— MINI MINI Cabriolet
Works
MINI MINI Cooper
Track Control Arm,
—Front Axle Left,Rear,Lower
HDBM-1151 31126760181 With rubber mounting D3-039, BMW 5 (E60)
M14 x 1.5mm,Aluminium
Track Control Arm,
—Front Axle
HDBM-1152 31126760182 Right,Rear,Lower BMW 5 (E60)

With rubber mounting D3-039,
M14 x 1.5mm,Aluminium




31126765993(31126

Track Control Arm,
HDBM-1153 | //4831)(311240264 R —Lower Front Axle Left BMW 7 (E65,E66)
53)(31126750519)(3 With rubber mounting
1126756101)
31126765994(31126 ) © Track Control Arm
HDBM-1154 774832)(311240264 K —Lower Front Axle Right BMW 7 (E65,E66)
54)(31126750520)(3 J With rubber mountin
1126756102) N J ' g
Track Control Arm,
HDBM-1155 31126760275(31121 —Lower Front Axle Left BMW X5 (E53)
096315) . -
With rubber mounting
Track Control Arm,
HDBM-1156 31126760276(31121 —Lower Front Axle Right BMW X5 (E53)
096316) ; -
With rubber mounting
BMW 3 (E36,E46)
BMW 3 Cabriolet
Joint,propeller shaft (E36,E46)
HDBM-1157 26111227410 For p;ropeller shaft ’ BMW 3 Compact
(E36,E46)
BMW 3 Coupe
(E36,E46)
BMW 3 (E36)
Ball Joint BMW 3 Cabriolet (E36)
—Lower I;ront Axle,inner BMW'3 Compact (E36)
HDBM-1158 31121139131 For control arm D3:O17 & D3- BMW 3 Coupe (E36)
018 BMW 3 Touring (E36)
BMW Z3
BMW Z3 Coupe
Tie rod,steering, gmw :?;(E30)
HDBM-1159 32111125187 —Front Axle,right .
M M14*1.5mm,adjustable Convertible(E30)
’ ’ BMW 3 Touring(E30)
. Tie Rod,steering,
HDBM.1160 | 32211096059(32211 H —>Front Axle.Centre BMW 5 (E39)
091720) Left-hand drive (Tie BMW 5 Touring (E39)
rod,middle)
31126755835(31126 Track Control Arm, BMW 6 (E63)
HDBM-1161 | 777939)(311223479 —Lower Front Axle Left BMW 6 (E64)

83)(31126777937)

With rubber mounting

BMW 7 (E65,E66)




31126755836(31126 Track Control Arm, BMW 6 (E63)
HDBM-1162 | 777940)(311223479 —Lower Front Axle Right BMW 6 (E64)
84)(31126777938) With rubber mounting BMW 7 (E65,E66)
33326756249(33326 Mounting,link, BMW 1 (E81, E87)
HDBM-1163 | 775552)(333267925 —Rear Axle Upper,Outer BMW 3 (E90)
53)(33326786981) For wheel bearing housing BMW 3 Touring (E91)
BMW 3(E46)
. . BMW 3
> Holder,wishbone mounting .
HDBM-1164 31122229624 0 —Front Axle,Right g&r\‘/‘\’/eg“gffgfé 46)
A = with rubber mounting P
BMW 3 Touring(E46)
BMW 5 (E34)
Suspension bushing,
31121096372(31126 —Front Axle,Lower
HDBM-1165 769715) Use for lower control arm BMW X5 (E53)
D3-048 & D3-049
BMW 5 (E39). (E60)
BMW 5 Touring (E39)
33326770749 . (E61)
HDBM-1166 (33321091620) Trailing Arm Mount Bushing [BMW 6 (E63)
(33321090030) BMW 6 Roadster (E64)
BMW 7 (E38). (E65,
E66)
31356769499 -
Rob/Strut,stabiliser
& ) ’
HDBM-1167 (31306781547) 7@ —Front Axle Left BMW'S (EGO.)
(31356760985) 3 With nuts. 2*M10*1.5MM BMW 5 Touring (E61)
(31354014531) : :
31356769500 .
(31306781548) Rob/Strut stabiliser, BMW 5 (E60)
HDBM-1168 —Front Axle Right ;
(31356760986) With nuts: 2"M10*1.5MM BMW 5 Touring (E61)
(31354014532) ; ’
BMW 5 (E60)
32106774347 Tie rod,steering, BMW 5 Touring (E61)
HDBM-1169 (32106777479) —Front Axle left & right BMW 6 (E63)
(32216762403) M14*1.5 MM,M18*1.5 MM BMW 6 Convertible
(E64)
BMW 3 (E36)
BMW 3 Compact(E36)
BMW 3
) 31121136531(31121 Suspension Bushing, .
HDBM-1170 139789) Front Axle Left Convertible(E36)

BMW 3 Coupe(E36)
BMW 3 Touring(E36)
BMW Z3 (E36)




BMW 3 (E36)
BMW 3 Compact(E36)
BMW 3

HDBM-1171  |3112 1?,8?3%()31 121 i‘;&i’:i‘)’(’l‘eﬁs:'ﬁg’ Convertible(E36)
—I_g_
BMW 3 Coupe(E36)
) BMW 3 Touring(E36)
BMW Z3 (E36)
) . BMW 3 (E46)
Tie Rod Axle Joint, ' BMW 3 Compact (E46)
—Front Axle Left & Right BMW 3 Touring (E46)
Lenght: 207 MM,
HDBM-1172 32106777503 Thread Size: M18*1.5 MM & BMW Z4 (E85)
M14*1.5 MM BMW
e ) (BRILLIANCE)BRIL 3
Use for D3-106 & D3-108 Series (E46)
Rod/Strut,stabiliser,
—Rear Axle Left & Right
HDBM-1173 33551096735 Length: 65 MM, BMW X5 (E53)
Thread Size: M12*1.5 MM
BMW 5 (E60)
32216756369(32106 Tie Rod End, - BMW 5 Touring (E61)
HDBM-1174 | 776946)(321067743 —Front Axle,left & right BMW 6 (E63)
61) M14*1.5 MM,M16*1.5 MM BMW 6 Convertible
Use for D3-173 (E64)
BMW 7 (E65,E66)
Control Arm Bushing,
31126765991(31120 —Front Axle,Left & Right
HDBM-1175 | 304308)(311203027 Height : 65mm & 76 mm BMW 7 (E65,E66)
54) Inner Diameter : 12 mm
Outer Diameter : 70 mm
Stabilizer Bushing,
—Front Axle,Left & Right
HDBM-1176 31351091555 Length : 55 mm BMW 7 (E38)
Width : 58 mm
Inner Diameter : 20.5 mm
Track Control Arm, Smw 1 (CE08n1v)ertibIe
—Lower Front Axle Left,Rear (E88) BMW
31126770849(31126 © Fa 1 With rubber-metal bearing
HDBM-1177 : . 1 Coupe (E82)
763699) / Inner Diameter : 12 mm
) . BMW 3 (E90)
Outer Diameter : 46 mm BMW 3 Convertible
Lenght : 71 mm (E93) BMW
Track Control Arm, BMW 1 (E81)
—Lower Front Axle BMW 1 Convertible
= Right,Rear (E88) BMW
HDBM-1178 31126;22338()31126 e‘* ”@ ‘ With rubber-metal bearing 1 Coupe (E82)
- Inner Diameter : 12 mm BMW 3 (E90)
Outer Diameter : 46 mm BMW 3 Convertible
Lenght : 71 mm (E93) BMW
BMW 1 (E81)
Push Rod, BMW 1 Convertible
—Upper Rear Axle,Left & (E88) BMW
HDBM-1179 33326763471 Right 1 Coupe (E82)
Length : 274 mm BMW 3 (E90)

Bush Inner Diameter : 12 mm

BMW 3 Convertible
(E93) BMW




BMW 1 (E81)

Push Rod, BMW 1 Convertible
33326777980(33326 —Upper Rear Axle,Left & (E88) BMW
HDBM-1180 | 763473)(333224062 Right 1 Coupe (E82)
92) Length : 274 mm BMW 3 (E90)
Bush Inner Diameter : 12 mm [BMW 3 Convertible
(E93) BMW
BMW 1 (E81)
Push Rod, BMW 1 Convertible
S020T65425(03326 " Upper Rear Ao Left & |(E88) o
HDBM-1181 Right 1 Coupe (E82)
38)(33326765535)(3 .
3322406289) Length : 241 mm BMW 3 (E90) .
Bush Inner Diameter : 12 mm [BMW 3 Convertible
(E93) BMW
Coupling Rod,
—Rear Axle,Left & Right gmxvv g ((I‘,E:r::)aot (E46)
HDBM-1182 33551094619 Length : 95 mm
Inner Diameter : 7 mm & 8 BMW'3 Coupe (E46)
' BMW 3 Touring (E46)
mm
31126765995(31126 Track Control Arm,
HDBM-1183 ;giiiﬁggglggﬁ% —Lower Front Axle Left BMW'S (E60)
1124046437)(31104 With rupber-metal bearing BMW 5 Touring (E61)
026719) Inner Diameter : 12.2 mm
31126765996(31126 Track Control Arm,
774826)(311267601 —Lower Front Axle BMW 5 (E60)
HDBM-1184 | 84)(31102348046)(3 Right;Rear BMW 5 Touring (E61)
1124046438)(31104 With rubber-metal bearing
026720) Inner Diameter : 12.2 mm
. BMW 3 (E46)
Ball Joint, ;
HDBM-1185 31126756695 —Lower Front Axle Left Inner MW 3 Touring (E46)
Use for D3-151 BMW'S (E34)
BMW 5 Touring (E34)
Ball Joint, BMW 3 (E46)
—Lower Front Axle BMW 3 Touring (E46)
HDBM-1186 31126756696 Right Inner BMW 5 (E34)
Use for D3-152 BMW 5 Touring (E34)
Engine Mount,
—Rubber-metal Bearing , Left
HDBM-1187 11811133364 & Right BMW 5 (E34)
Outer Diameter : 70 mm
Length : 65 mm
Driveshaft Support,
HDBM-1188 26121227997 | Rubber-metal Bearing BMW 7 (E38)

With ball bearing
Inner Diameter : 35 mm




Suspension Bushing,
& —Front Axle.Lower gmw g'(l'i?lorl)ng (E61)
3 \ Height : 76 mm
- A
HDBM-1189 31120305612 Q Inner Diameter : 12 mm Smw g E;E06n3v)ertible
Outer Diameter : 70 mm (E64)
Use for D3-187 & D3-188
BMW 1 (E81)
Mounting,axle beam, BMW 1 Convertible (E88)
33176751808(33171 —Rear Axle Left BMW 1 Coupe (E82)
HDBM-1190 | 093565)(333167693 Height : 60 mm BMW 3 (E46)
76) Inner Diameter : 14 mm gmw g((!,zogr::aact (E46)
Outer Diameter : 68 mm BMW 3 Convertible (E46)
BAM\AI R Convertihle (FQ3)
BMW 1 (E81)
BMW 1 (E87)
Tie rod,steering, BMW 1 Convertible (E88)
HDBM-1191 32106765235 —Front Axle left gm ;(CEOJOF;G (E82)
M1471.5 MM, M181.5 MM BMW 3 Convertible (E93)
BMW 3 Coupe (E92)
RAMA/ 2 Tourina (EQ1)
BMW 1 (E81)
BMW 1 (E87)
Tie rod,steering, BMW 1 Convertible (E88)
HDBM-1192 32106765236 g —Front Axle,right Smw ; ((;'Eoguop)e (E82)
‘ M1471.5 MM, MI81.5 MM 15\ 3 Convertible (£93)
BMW 3 Coupe (E92)
BMAI 2 Tourina (FQ1)
31103451881(31103
412135)(311034150 N cont Ao, Lot Lower
HDBM-1193 | 27)(31103418337)(3 With bushin * D3-639 BMW X3 (E83)
1103426433)(31120 "ng
360275) Thread Size: M14x1.5 mm
31103451882(31103
412136)(311034150  Eoont Avle, Right, ower
HDBM-1194 | 28)(31103418338)(3 With bushine Di?—OéQ BMW X3 (E83)
1103426434)(31120 "ng
360276) Thread Size: M14x1.5 mm
132227277?&23%82(32222; & Track Control Arm,
HDBM-1195 | 6533326771l a - —Rear Axle, Front, Upper  [BMW 5 (E39)
3326779820)(33326 = Cone Size: 10 mm BMW 5 Touring (E39)
770753) Outer Thread: M10x1.5 mm
o BMW X5 (E70)
R iz T ol [P Y6 1, P
863785) A Cono Siro: 20 :; ' BMW X6 (E71, E72)
__6 ’ BMW X6 (F16, F86)
o~ BMW X5 (E70)
) Track Control Arm
) 31126776418(31126 3 . BMW X5 (F15, F85)
HDBM-1197 863786) 1 € go:fg’giﬁ;"zourz‘r’ne“R'th BMW X6 (E71, E72)
@—/ ’ BMW X6 (F16, F86)




Track Control Arm,

BMW 1 (E81)
BMW 1 (E87)

31126769801(31124 —Front Axle. Front Left BMW 1 Convertible (E88)
036269)(311267637 e _ : : BMW 1 Coupe (E82)
HDBM-1198 | 43)(31126763707)(3 a ' Length: 40T mm By 3 E%0)
X X 6 Cone Size: 16 mm BMW 3 Convertible (E93)
1126769797) Thread Size: M14x1.5 BMW 3 Coupe (E92)
’ ’ BMW 3 Touring (E91)
BMW 1 (E81)
BMW 1 (E87)
31126769802(31124 Tr?fk f‘;”ﬁrd FArmt’ Riaht BMW 1 Convertible (E88)
036270)(311267637 —LTONL AXe, TTONL.RI BMW 1 Coupe (E82)
X
HDBM-1199 04)(31126763708)(3 \ Length: 401 mm BMW 3 (E90)
X X (® Cone Size: 16 mm BMW 3 Convertible (E93)
1126769798) Thread Size: M14x1.5 BMW 3 Coupe (E92)
' ’ BMW 3 Touring (E91)
) ) BMW 1 (81
Suspensmn Bushlng, BMW 1 (E87)
—Front Axle,Lower BMW 1 Convertible (E88)
31120393540(31126 Height : 76 mm BMW 1 Coupe (E82)
HDBM-1200 | 763719)(311203983 Inner Diameter : 12 mm BMW 3 (E90)
50) ) i BMW 3 Convertible (E93)
Outer Diameter : 70 mm BMW 3 Coupe (E92)
Use for D3-187 & D3-188 BMW 3 Touring (E91)
Tie Rod Assembly,
32216756368(32106 —Front Axle
HDBM-1201 | 777268)(321067743 Outer Thread: M18 x 1.5 mm E(I\S/I;/)V 7 (E65, E66,
60) Outer Thread: M16 x 1.5 mm
Outer Thread: M14 x 1.5 mm
Track Control Arm ,
—Front Axle, Left, Lower BMW X3 (F25)
HDBM-1202 31126787669 Thread Size: M14x1.5 mm BMW X4 (F26)
Cone Pitch: 1/6
b Track Control Arm ,
i gP—d —Front Axle, Right, Lower BMW X3 (F25)
HDBM-1203 31126787670 Thread Size: M14x1.5 mm BMW X4 (F26)
Cone Pitch: 1/6
Track Control Arm ,
HDBM-1204 31126773949 —Front Axle, Left, Lower gmw ig EE;?) E72)
Thread Size: M14x1.5 mm ’
Track Control Arm ,
HDBM-1205 31126773950 —Front Axle, Right, Lower gmxvv ig EE;?) E72)
Thread Size: M14x1.5 mm ’
Suspension Bushing,
—Front Axle.Lower
HDBM-1206 31106778015 Height : 90 mm BMW: X5 (E70)

Inner Diameter : 12 mm
Outer Diameter : 70 mm
Use for D3-208 & D3-209

BMW X6 (E71, E72)




Track Control Arm ,
—Front Axle, Left, Lower,

31126771893(31127 BMW X5 (E70)
HDBM-1207 Rear
850157) Thread Size: M14x1.5 mm BMW X6 (E71, E72)
Cone Size: 19 mm
Track Control Arm ,
HDBM.1208 | 31126771894(31127 ;ezr:’”t Axle. Right. Lower. |5\ x5 (E70)
850158) Thread Size: M14x1.5 mm BMW X6 (E71, E72)
Cone Size: 19 mm
Suspension Bushing,
: —Front Axle Left & Right
i 31106771897(31126 o Height : 50 mm BMW X5 (E70)
HDBM-1209 855509) @% Inner Diameter : 14 mm BMW X6 (E71, E72)
Outer Diameter : 43 mm
Use for D3-211 & D3-212
Suspension Bushing,
—Front Axle Left & Right
) Height : 55 mm BMW X5 (E70)
HDBM-1210 31106771194 Inner Diameter : 14 mm BMW X6 (E71, E72)
Outer Diameter : 43 mm
Use for D3-211 & D3-212
% Suspension Bushing, BMW X5 (E70)
HDBM-1211 33326774476 —Front Axle Left & Right BMW X5 (F15, F85)
Inner Diameter : 12 & 16 mm |BMW X6 (E71, E72)
Stabilizer Link,
HDBM-1212 35‘5153;2%;250123%2;5352 —Front Axe, Left BMW X5 (E70)
51) ee Not for active stabiliser control|[BMW X6 (E71, E72)
With nuts: 2*M12*1.5MM
Stabilizer Link,
omiors | STSRA3TS%s ~ Front e, Right BMW x5 (€70
52) Not for active stabiliser control|BMW X6 (E71, E72)
With nuts: 2*M12*1.5MM
BMW 1 (E81)
BMW 1 (E87)
i Stabilizer Link, BMW 1 Convertible (E88)
BMW 1 Coupe (E82)
HDBM-1214 31356765933 | @ - J;:::IA:'Iﬁleﬁf;m BMW 3 (£90)
o0 : o )
I With nuts: 2°MI10"1.5MM [ 3 coume (Eo2,
BMW 3 Touring (E91)
BMW 1 (81
BMW 1 (E87)
" Stabilizer Link, BMW 1 Convertible (E88)
| i BMW 1 Coupe (E82)
HDBM-1215 31356765934 & Rt fode, Ry BMW 3 (E90)
P - Material: Aluminium )
Q0 1 R . . BMW 3 Convertible (E93)
L With nuts: 2*M10*1.5MM BMW 3 Coupe (E92)
BMW 3 Touring (E91)

RAAL

4 Cotntn (CQAN




] BMW 1 (E81)
Tie Rod Assembly, BMW 1 (E87)
—Front Axle, Left BMW 1 Convertible (E88)
For left-hand drive vehicles  |BMW 1 Coupe (E82)
HDBM-1216 | 32216762243 Outer Thread: M14 x 1.5 mm [EMW 3(E90)
h, . o : ) BMW 3 Convertible (E93)
: BMW 3 Coupe (E92)
Outer Thread: M18 x 1.5 mm [BMW 3 Touring (E91)
BMW 1 (E81
Tie Rod Assembly, BMW 1 EE87;
—Front Axle, Right BMW 1 Convertible (E88)
For left-hand drive vehicles  |BMW 1 Coupe (E82)
HDBM-1217 32216762244 Outer Thread: M14 x 1.5 mm |EMW 3 (ES0)
P > : : BMW 3 Convertible (E93)
BMW 3 Coupe (E92)
Outer Thread: M18 x 1.5 mm [BMW 3 Touring (E91)
Tie Rod Assembly,
32106793496(32216 & —Front Axle, Left & Right BMW X5 (E70)
HDBM-1218 | 773741)(321067809 M ; With right-hand thread BMW X6 (E71, E72)
85) Outer Thread: M14 x 1.5 mm
Outer Thread: M18 x 1.5 mm
1@ — Track Control Arm , BMW 5 (F10, F1(8)11)
BMW 5 Touring (F
HDBM-1219 31126794203 %f:;’;t g’;’: I\Iﬁfets;( '1'°g":1rm BMW 6 Convertble (F12)
i . BMW 6 Coupe (F13)
Cone Size: 19.1 mm BMW 6 Gran Coupe (F06)
Track Control Arm , BMW 5 (F10, F18)
. BMW 5 Touring (F11)
HDBM-1220 31126794204 ;;}f;‘;gt Q.f:: ,\F;;qehxt{ é“;‘;"n‘:f BMW 6 Convertible (F12)
. . BMW 6 Coupe (F13)
Cone Size: 19.1 mm BMW 6 Gran Coupe (F06)
' J Track Control Arm ,
HDBM-1221 ?;;;21%3?(03718112(2717155 @‘f»’" S— —Front Axle, Left, Lower BMW 5 Gran Turismo (F07)
Thread Size: M16x1.5 mm BMW 7 (FO1, FO2, FO3, FO4)
63) Cone Size: 19.1 mm
Track Control Arm ,
31126850782(3 1426 \ — ‘» @ —Front Axle, Right , Lower BMW 5 Gran Turismo (F07)
HDBM-1222 | 798108)(311267759 m} _ N8 Thread Size: M16x1.5 mm BMW 7 (FO1, FO2, FO3, FO4)
64) Cone Size: 19.1 mm
P Track Control Arm , BMW 5 (F10, F1(8)11)
S o BMW 5 Touring (F
HDBM-1223 31126775971 Ye { o] %f:;:lt 3’;‘: l\'ﬁfé’x '{Oswrirm BMW 6 Convertible (F12)
. . BMW 6 Coupe (F13)
Cone Size: 19.1 mm BMW 6 Gran Coupe (F06)
Track Control Arm , BMW 5 (F10, F18)
. BMW 5 Touring (F11)
HDBM-1224 31126775972 —Front Axle, Right, Lower oy ¢ convertibie (F12)
Thread Size: M16x1.5 mm BMW 6 Coupe (F13)
Cone Size: 19.1 mm BMW 6 Gran Coupe (F06)




Track Control Arm ,

BMW 5 Gran Turismo

D
) = = b —Front Axle, Left, Lower (FO7)
HDBM-1225 31124083311 ‘l!! < Thread Size: M16x1.5 mm BMW 7 (FO1, F02,
Cone Size: 19.1 mm F03, F04)
f\/// Track Control Arm , BMW 5 Gran Turismo
W, - e —Front Axle, Right , Lower  [(FO7)
HDBM-1226 31124083312 @ ? Thread Size: M16x1.5 mm BMW 7 (FO1, FO2,
Cone Size: 19.1 mm FO03, F04)
Tie Rod Assembly,
HDBM-1227 32106774318(32216 —Front Axle, Left BMW 3 (E46)
751039) Outer Thread: M12 x 1.5 mm |BMW 3 Touring (E46)
Outer Thread: M14 x 1.5 mm
S
\ Tie Rod Assembly,
) 32106774319(32216 —Front Axle, Right BMW 3 (E46)
HDBM-1228 751040) \‘ Outer Thread: M12 x 1.5 mm |BMW 3 Touring (E46)
Outer Thread: M14x 1.5 mm
BMW 4 Gran Coupe (F36)
. BMW 4 Convertible (F33,
Tie Rod Assembly, F83) BMW 2
i —Front Axle, Left Coupe (F22, F87)
HDBM-1229 32106799960 Outer Thread: M12 x 1.5 mm |BMW 4 Coupe (F32, F82)
Outer Thread: M14 x 1.5 mm [BMW 3 Gran Turismo
(F34) BMW
1 (F21)
BMW 4 Gran Coupe (F36)
) BMW 4 Convertible (F33,
Tie Rod Assembly, F83) BMW 2
i —Front Axle, Right Coupe (F22, F87)
HDBM-1230 32106799965 Outer Thread: M12 x 1.5 mm |BMW 4 Coupe (F32, F82)
Outer Thread: M14 x 1.5 mm |BMW 3 Gran Turismo
(F34) BMW
1 (E21)
BMW 2 Convertible (F23)
BMW 4 Gran Coupe (F36)
BMW 4 Convertible (F33,
HDBM-1231 33326792525 Track Control Am, F83) BMW 2
—Rear Axle, Lower, Front, Coupe (F22, F87)
o BMW 4 Coupe (F32, F82)
BMW 3 Gran Turismo
(ER4) BAMAL
o . BMW 3 (E90)
Stabilizer Link
33556764428(37706 ’ . BMW 1 (E81)
HDBM-1232 015054) —Rear _Axle, Left & Right BMW 1 (E87)
Length : 161 mm BMW X1 (E84)
-~ Stabilizer Link, BAW 3
. : (E46)
- O
HDBM-1233 31356751079 - —Front Axle, Left BMW 3 Touring (E46)

With nuts: 2*M10*1.5MM




Stabilizer Link,

Right Inner

BMW 3 Gran Turismo

HDBM-1234 31356751080 4 _Front Axle, Right BMW3 (E46)
- With nuts; 2°M10*1.5MM  |2WW 3 Touring (E46)
BMW 5 (F10)
\{N Tie Rod Assembly BMW 5 Gran Turismo
’ (FO7) BMW
HDBM-1235 32106784716 \\ g’Ftro”Ttr'fX'ec; L,a:t 2 % 1.5 mm |8 Touring (F11)
Q uter fhread: X1omm gy 7 (E65, E66, E67)
Outer Thread: M18 X 15 mm BMW 7 (F01, F02, F03,
FO4)
BMW 5 (F10)
Tie Rod Assembly BMW 5 Gran Turismo
) (FO7) BMW
HDBM-1236 32106784719 S’th”Tt_k':\X'eé Rl\'/m 1 5 mm |5 Touring (F11)
uter Thread: X1.omMmigyw 7 (E65, E66, E67)
Outer Thread: M18 x 1.5 mm BMW 7 (F01, F02, FO3,
F04)
BMW 5 (F10)
Stabilizer Link BMW 5 Gran Turismo
HDBM-1237 31356777319 —,Front Axle, Left & Right é?;&ring 1) BMW
With nuts: 2*M12*1.5MM BMW 7 (FO1, F02, FO3,
F04)
BMW 1 (F20)
BMW 1 (F21)
Track Control Arm, BMW 2 Coupe (F22, F87)
HDBM-1238 | 33326792533 M —Rear Axe, Lower, Left& BV 3 (730, F80)
R ran lurismo
Right (F34) BMW
3 Touring (F31)
BMWA A4 Conine (FR2 EQ2)
BMW 1 (F20)
BMW 1 (F21)
Track Control Arm, BMW 2 Coupe (F22, F87)
HDBM-1239 33326792539 —Rear Axle,Upper Front, Left gmw 2 g?’O' Tqu)
. . ran lurismo
Inner Diameter: 12 mm (F34) BMW
3 Touring (F31)
BMWA 4 Conine (FR2 EQ92)
BMW 1 (F20)
BMW 1 (F21)
Track Control Arm, BMW 2 Coupe (F22, F87)
HDBM-1240 33326792540 —Rear Axle.Upper Front., |BMw 3 (F30, F80)
Right Inner BMW 3 Gran Turismo
Diameter: 12 mm (F34) BMW
3 Touring (F31)
BMWA A4 Conine (FR2 EQ2)
BMW 1 (F20)
BMW 1 (F21)
Track Control Arm, BMW 2 Coupe (F22, F87)
HDBM-1241 33326792543 —Rear Axle,Upper Front, Left gm g (GF3°’ TF89>
. . ran lurismo
Inner Diameter: 12 mm (F34) BMW
3 Touring (F31)
BMW 4 Conine (FR2 EQ92)
BMW 1 (F20)
BMW 1 (F21)
Track Control Arm, BMW 2 Coupe (F22, F87)
HDBM-1242 33326792544 h i —Rear Axle.Upper Front, BMW 3 (F30, F80)

Diameter: 12 mm

(F34) BMW

3 Touring (F31)
RMW 4 Conne (E32 ER2)




Suspension Bushing,
—Front Alex , Left

BMW 3 (E46)

BMW 3 Compact (E46)
BMW 3 Convertible (E46)
BMW 3 Coupe (E46)

HDBM-1243 31126757561 - - :
Inner Diameter: 20 mm BMW 3 Touring (E46)
Outer diameter: 66 mm BMW Z4 Roadster (E85)
BMW MINI (R50, R53)
RAMA/ MINI Convertihle
BMW 3 (E46)
. . BMW 3 Compact (E46)
Suspension Bushing, BMW 3 Convertible (E46)
HDBM-1244 31126757562 —kront Alex., Right BMW 3 Coupe (E46)
Inner Diameter: 20 mm BMW 3 Touring (E46)
Outer diameter: 66 mm BMW Z4 Roadster (E85)
BMW MINI (R50, R53)
RAMAL MINI Convertihle
Suspension Bushing,
—Front Alex , Left & Right BMW MINI (R50, R53)
HDBM-1245 31126757551 Height: 61.5 mm BMW MINI Convertible
Width: 66.3 mm (R52)
Inner Diameter: 21.5 mm
Track Control Arm ,
—Front Axle, Left, Lower
Thread Size: M14x1.5 mm BMW X5 (F15, F85)
HDBM-1246 31126851691 Cone Size: 19 mm BMW X6 (F16, F86)
Cone Pitch: 1/6
Inner Diameter: 12.2 mm
Track Control Arm ,
w —Front Axle, Right, Lower
Thread Size: M14x1.5 mm BMW X5 (F15, F85)
HDBM-1247 31126851692 Cone Size: 19 mm BMW X6 (F16, F86)
Cone Pitch: 1/6
Inner Diameter: 12.2 mm
Track Control Arm ,
—Front Axle, Left, Lower,
Rear BMW X5 (F15, F85)
HDBM-1248 31126864821 Thread Size: M14x1.5 mm BMW X6 F16‘ F86
Cone Size: 19 mm (F16, )
Mounting points diameter:
14.7 mm
Track Control Arm ,
—Front Axle, Right, Lower,
HDBM-1249 31126864822 Rear o Eilg Eggi
Thread Size: M14x1.5 mm '
Cone Size: 19 mm
Track Control Arm , BMW 3 (E90)
31126768989(31122 —Front Axe, Left & Riaht | 5 05 ne (E92)
HDBM-1250 Thread Size: M14x1.5 mm .
405863) e c Size: 19 BMW 3 Touring (E91)
one size: 19 mm BMW X1 (E84)
Inner Diameter: 12 mm
Stabilizer Link,
31303414299(31303 , ‘ — Front Axle. Left
HDBM-1251 | 413201)(303034142 < Length : 300 mm BMW X3 (E83)
29) )

With nuts: 2*M10*1.5MM




Stabilizer Link,

31303414300(31303 Q —Front Axle, Right
HDBM-1252 413202) Length : 300 mm BMW X3 (E83)
With nuts: 2*M10*1.5MM
€ 2 Track Control Arm , BMW 6 Gran Tur
HDBM.-1253 | 31106868530(31126 ) - —Upper Front Axle, Left& | o) W 7
870023) ST Right (G11, G12)
© Cone Size: 21mm '
31126871301(31122 Track Control Arm , BMW 2 Active Tourer
HDBM-1254 | 785113)(311268798 —Front Axle, Left (F45) BMW
43)(31126851203) Cone Size: 21mm X1 (F48)
31126871302(31122 Track Control Arm, BMW 2 Active Tourer
HDBM-1255 | 785114)(311268798 —Front Axle, Right (F45) BMW
44)(31126851204) Cone Size: 21mm X1 (F48)
31126874341(31126 Suspension Bushing, )
HDBM-1256 | 850403)(311268828 —Front Axle. Left (BF"Q‘Q)’ 2 Active Tourer
43) With Rubber-metal Bearing
31126874342(31126 Track Control Arm , .
HDBM-1257 | 850404)(311268828 —Front Axle, Right ?F“j‘é‘; 2 Active Tourer
44) With Rubber-metal Bearing
Driveshaft Support,
HDBM-1258 26127558745 —Rear Axle.Centre BMW'X3 (F25)
, BMW X5 (E70)
Inner Diameter : 30 mm
22116783094(22114 Engine Mount,
HDBM-1259 | 052474)(221167720 —Rear Axle,Left BMW MINI (R56)
40) Inner Diameter : 30 mm
Track Control Arm , BMW 5 Gran Turismo
HDBM-1260 31126777739 —Lower Front Axle, Left (FO7) BMW

With bushing

7 (FO1, F02, F03, FO4)




Track Control Arm ,

BMW 5 Gran Turismo

HDBM-1261 31126777740 —Lower Front Axle, Right (FO7) BMW
With bushing 7 (FO1, F02, FO3, F04)
&' i
22114046186(22116 &) Engine Mount, BMW MINI (R50, R53)
HDBM-1262 | 763259)(221167786 —~ "«»V/ —Front Axle,Right BMW MINI Convertible
10) S Rubber-metal Bearing (R52)
‘ Engine Mount, BMW MINI (R50, R53)
HDBM-1263 22116756406 = . —Rear Axle Left BMW MINI Convertible
- = Rubber-metal Bearing (R52)
& - Track Control Arm BMW 6 Gran Turismo
HDBM-1264 31106861151 < & (O _Front Axle, Left, Lower (G32) BMW 7
With bushing and joint (G11, G12)
Track Control Arm , BMW 6 Gran Turismo
HDBM-1265 31106861152 —Front Axle, Right, Lower (G32) BMW 7
With bushing and joint (G11, G12)
¢ P Track Control Arm , BMW 6 Gran Turismo
‘)’ .= YO —Front Axle, Left, Lower (G32) BMW 7
HDBM-1266 31106861169 ) Rear (G11, G12)
With bushing and joint BMW 5 (G30, F90)
:@‘( e ‘( Track Control Arm , BMW 6 Gran Turismo
o —Front Axle, Right, Lower, (G32) BMW 7
HDBM-1267 31106861170 & oar (©11, 612)
With bushing and joint BMW 5 (G30, F90)
@, . Track Control Arm , )
HDBM-1268 | 126;;?1??()31 124 Y a © | oFrontAde Left Lower [T © Cron Tureme
@ With bushing and joint
R Y Track Control Arm
31126777730(31124 \%? ] BMW 5 Gran Turismo
HDBM-1269 081432) (5] P —Front Axe. Right, Lower | g~

With bushing and joint




31100363477(31103 Track Control Arm ,
HDBM-1270 | 412137)(311034431 —Front Axle, Left, Lower BMW X3 (E83)
27) With bushing
31100363478(31103 > Track Control Arm ,
HDBM-1271 | 412138)(311034431 —Front Axle, Right, Lower BMW X3 (E83)
28) With bushing
31103412726(31103 - E?L”o\\J/?gr‘t’Front Axle,Left &
HDBM-1272 | 418341)(311034386 - : BMW X3 (E83)
23) Right
Outer Thread: M14 x 1.5 mm
Suspension Bushing,
HDBM-1273 33326770985 _Rear Axle.Left & Right BMW X5 (E70)
Track Control Arm ,
HDBM-1274 311262gi33;§31126 éﬂr — —Front Axle, Left.Rear BMW 1 (F20)
With bearing and joint
Track Control Arm ,
HDBM-1275 3112622§32§§31126 ’ﬁ g - ib —Lower Front Axle, Right BMW 1 (F20)
With bearing and joint
HDBM-1276 X505
BMW 5 (F10)
BMW 5 Gran Turismo
Driveshaft Support, (FO7) BMW 5
HDBM-1277 26127564695 —Rear Axle.Centre gm’\;\'/"g (CF”) Hible (F12)
H . onvertible
Inner Diameter : 35 mm BMW 6 Coupe (F13)
BMW 7 (FO1, F02, F03,
EN4)
31106890905(31106 Track Control Arm ,
HDBM-1278 | 890903)(311068709 —Lower Front Axle, Left BMW X3 (G01)

77)

With bushing and joint

BMW X4 (G02)




31106890906(31106 Track Control Arm , BMW X3 (G01
HDBM-1279 | 890904)(311068709 —Lower Front Axle, Right BMW X4 EGOZ;
78) With bushing and joint
Suspension Bushing, BMW 5 (F10)
—Rear Axle.Left & Right Alpina B6 Gran Coupe
HDBM-1280 33326780438 Inner Diameter : 16.05 mm (FO6) Alpina B7
Outer Diameter : 60.5 mm (FO1, F02)
Suspension Bushing Kit,
HDBM-1281 31129063163 —Rear Axle.Left & Right Vi (Tit?.)ng E46)
Outer Diameter : 60.4 mm
= Stabilizer Link
33506768493(33556 _Rear Axle, Left & Right
HDBM-1282 | 771937)(335567614 ) Lenath - 133’ h % d BMW 5 (E60)
92)(33506781537) ngin - ) .
With nuts: 2*M12*1.5MM
Track Control Arm ,
HDBM-1283 | 31126768983 m —>Rear Front Axle, Left BMW 3 (E90)
With bushing
Track Control Arm ,
HDBM-1284 31126768984 &N —Rear Front Axle, Right BMW 3 (E90)
With bushing
] Stabilizer Link,
” 6 —Rear Axle, Left & Right
HDBM-1285 33506;217223533556 Et" Length : 212 mm BMW 7 (E65, E66, E67)
With nuts: M10*1.5MM &
M12*1.5MM
M Track Control Arm ,
HDBM-1286 31106787673 : —Lower Front Axle, Left BMW X3 X4 F25 F26
With bushing
< Track Control Arm ,
HDBM-1287 31106787674 —Lower Front Axle, Right BMW X3 X4 F25 F26

With bushing




HDBM-1288 32131096910
. - :; Y
N\
LS
Track Control Arm ,
) ~ : —Upper Front Axle, Left &
HDBM-1289 31126775967 o é Richt BMW 5 (F10)
With bushing and joint
37116771929(37116 ifaRbe'gfe;X'l‘;"'f_’eﬂ
HDBM-1290 | 857627)(371168596 - BMW X5 (E70)
53) Length : 248 mm
With nuts: 2*M12*1.5MM
37116771930(37116 : i?at:!ﬁxﬁm}ii ~
HDBM-1291 | 857628)(371168596 : Axe. 7l BMW X5 (E70)
54) Y Length : 248 mm
With nuts: 2*M12*1.5MM
32413413476(32303 Tie Rod End,
418202)(321067809 —Front Axle left & right
HDBM-1292 | 641(32413418202)(3 Both M14*1.5 MM BMW X3 (E83)
2106793497) Use for D3-147
BMW 1 (E81)
Tie Rod End, BMW 1 (E87)
—sFront Axle.left BMW 1 Convertible (E88)
HDBM-1293 32106;2;23;()32106 ‘ Both M14*1.5 MM BMW 1 Coupe (E82)
For left-hand drive vehicles BMW 3 (E90) )
Use for D3-195" & D3-220* o o convertiole (£99)
@ BMW 3 Coupe (E92)
_ BAM\AI R Tonrina (FQ1)
BMW 1 (E81)
Tie Rod End, BMW 1 (E87)
! —Front Axle.right BMW 1 Convertible (E88)
HDBM-1294 32106;22325532106 Both M14*1.5 MM BMW 1 Coupe (E82)
For left-hand drive vehicles BMW 3 (E90) )
& Use for D3-196* & D3-221*  |EMW 3 Convertible (E93)
: BMW 3 Coupe (E92)
RMA/ R Tourina (EFO1)
B
HDBM.1295 | 32106787472(32106 i ;_—B‘ Tie Rod Assembly, BMW X3 (F25)
792674) = —Front Axle left and right BMW X4 (F26)
Transmission mount
S BMW 5 (E60)
HDBM-1296 22312283285 —Rear ,Left & Right BMW 6 (E63)

Engine mounting,rear




Stabilizer Link,
—Front Axle, Left

HDBM-1297 31356768771 Length : 340 mm BMW X5 (E70)
With nuts: 2*M10*1.5MM
. Stabilizer Link,
HDBM-1298 31356768772 / L_;';;Et_gﬂg‘ anr'ght BMW X5 (E70)
With nuts: 2*M10*1.5MM
BMW 1 (F20)
. BMW 1 (F21)
Tie Rod End, BMW 2 Convertible (F23)
] —Front Axle,left BMW 2 Coupe (F22, F87)
HDBM-1299 32106799966 Both M14*1.5 MM BMW 3 (F30, F80)
Use for D3-233* BMW 3 Gran Turismo
(F34) BMW 3
Taourina (FR1)
BMW 1 (F20)
. BMW 1 (F21)
Tu'e: Rodfnld, . BMW 2 Convertible (F23)
) —Front Axle right BMW 2 Coupe (F22, F87)
HDBM-1300 32106799967 Both M14*1.5 MM BMW 3 (F30, F80)
Use for D3-234* BMW 3 Gran Turismo
(F34) BMW 3
Taouring (F31)
BMW 1 (E81)
P, BMW 1 (E87)
Axial joint,tie rod BMW 1 (F20)
) —Front Axle left and right BMW 1 (F21)
HDBM-1301 31106799965 -G8 (Thread: MM14X1.5 RHT &  [BMW 1 Van (F20)
MM16X1.5 RHT BMW 2 Convertible (F23)
BMW 2 Coupe (F22, F87)
BRAMA/ R (ER0 FRN)
® Stabilizer Link,
—Front Axle, Left BMW X3 (F25)
HDBM-1302 31306787163 S = Length : 340 mm BMW X4 (F26)
With nuts: 2*M10*1.5MM
3 Stabilizer Link,
—Front Axle, Right BMW X3 (F25)
HDBM-1303 | 31306787164 8 Cength - 340 mm BMW X4 (F20)
With nuts: 2*M10*1.5MM
BMW 2 Active Tourer (F45)
BMW 2 Active Tourer Van
Stabilizer Link, (F45) BMW 2 Gran
Front Axle, Left & Right Tourer (F46)
HDBM-1304 31306862864 Tongth - 320 mm 4 BMW 2 Gran Tourer Van (F46)
’ BMW X1 (F48
With nuts: 2°M10"1.5MM | xt van (F4¢)
BMW X2 (F39)

RANAL DN O IIRANAN (EEAN




